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Words in the heart, are not words - 2927 2N abaw 22T

Overview

The X773 related that a person sold his assets with the intent of going to live in 77X
%X°, however when he made the sale he did not say anything to the buyer. He
was not able to go to °"X and wanted to nullify the sale. X217 said that his intention
was only in his heart; he did not verbalize it and 2°927 1K 272w 227, the sale is
valid. n1von discusses what the rule would be had he verbalized his intent.
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It seems that he cannot nullify the sale only because he did not verbalize it,

however if he explicitly stated his intention -
- 503 9917 MNP HNIYS NIND 95Y NI RINY 29D D91 NINY 99191 NYWA 99N

And would say at the time of the sale that he is selling his assets because he
wants to go to v''R, the sale would be nullified (it is no longer 293w o127).

MooIN asks:
= NPNRN 91PN’ NY ‘[7’ NY NV NINN KXY M 351&: INIF 12P¥a N INNIN YD

And there is a difficulty; why is the 502 957 if he mentioned his intention to go to
"X, but we require a ‘double stipulation’, and he did not stipulate that if he

does not go, the sale is not valid, therefore even if he indicated his intention to go to "X,
the sale should be valid since it is not a 2193 *Xin.

moon offers an answer:
- Smnnb N9 9Y MINN 23N (3,580 97 19ID) ‘v 9NN 12 SNV 12%2Y

And the 2'"'aw" explained regarding giving an 30X on the condition that it be
returned, the rule is -

! %21 said the sale is valid since 2127 o 222w 0™27; indicating that if it was verbalized it would void the sale.

* It appears from mooIn language that the sale would be b2 even if it was not a stipulation (I am selling my field
with the condition that I am going to *"R), but rather he only mentioned it as information, nevertheless the 137 is 7v2.
? 535 *xin or double stipulation means that when one makes a stipulation (regarding a sale for instance) if he wants
that the non-compliance with the stipulation should nullify the deal, he must state it both ways; the deal will be
effective if the stipulation is met, and if it is not met the deal is voided. However a one sided stipulation (the deal is
effective if the stipulation is met) will not void the deal if the stipulation is not met (see footnote # 17). This is the
view of 7Rn "1 later on X,X0. [Whenever a Rin (stipulation) is not effective (it is not a 2193 >Rin for instance) the deal
is valid even if the *Xin was not fulfilled.]

* The 0"aw can be found in X ox1 7"7 2,799 2"2.

> A person did not have an 310X (the 211 '7) and asked someone to give him his. The giver gave it to him with the
stipulation that he return it, after he finishes doing the mxn.
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If the borrower returned the 270X he fulfilled the m¥» of 0°1°» '7; however if he

did not return the 170X he did not fulfill the 73 of 0°n '7; the 0"awn explains -
- T DONND Y 2INNY NN YY 29 SWTHNN 1N NOINA 5959 531 9195 NI 199327 23 HY 9N)

And even though a 5> Nin is required; that is only by prohibitions, for
instance if a person says to a woman become nw7I»» to me with the stipulation

that you give me two hundred 7 (in such a case it needs to be a 9193 *Xin, otherwise the
XN is Pv2 and the TR is 0P, even if she gave him nothing) -
- 5195 83 13993 XY Pana Yar Hyan 29w 'xvra Tonmw ppnx V32 19

And the same by a v3 (which is [also] M0°X) we find that ®X12w instituted by a vs
of a ya» 2% (that he should write if I do not die; it should not be a v, and if I die
it should be a v3 as of now); however regarding monetary issues (like by the
NN and the same with our case here) we do not require a 9192 >Nin.

mooIn disagrees with the 0"aw.
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And noo1n does not agree, for all the laws of sXin we derive from the *X1n made

with the 73189 %13y 73 %13, and there it was a monetary issue. So how can we
differentiate between M0°X and 1an?!

mooin offers his answer:
= 9195 NIN 129998 DIRY 0937 YT MDY POHND TI98T PNN 12929 99IN)

And the 3'' says that it is necessary to differentiate and say that there are

certain cases where a 15> "Nin is not required -
- Yi5a5 9519 NOYTINT SN0 JINT NN 1Y) NN

® He fulfilled the *Xin and therefore it was a valid gift for that duration and he ‘bentched’ on his own 2217 7.

7 He did not fulfill the *Xin, so the “gift’ of the 317X is void and he ‘bentched’ on a stolen M NKX.

¥ There was no 9193 *Xin here, he merely said ‘here is the 3 nx with the *Xin that you return it’; he did not say, ‘if you
do not return it, the gift is void’. Since it was not a 2193 *Xin it is an ineffective *kin, and by an ineffective >Xin the
Twyn (the gifting) is valid, so why was he not X1’ the mxn?

% 3,7y o,

10°A vy n 20w, who had no children, did not want his wife to ‘fall’ into 212’ if he dies. He also does not want to
divorce her (which will free her from 012°), because he may recover. He gives her a v3 with a °Xin; this *Xin needs to
be a 9193 °Xin as MoOOIN continues (see footnote # 11).

" The n"27 niAa inserts here, 22X 121 b3 X7° *NK OX 13 X X2 *Nn X2 o8 Y7 (instead of 2R yn).

"2 Therefore here if he would have stipulated that he is selling to go to *"X the 1% would be %v2.

" There are other laws of *Xin (besides 2193 *Xin) such as Twy»? 0P *RIN and WP 7P 17, etc.

' qwn stipulated (see 22 P12 [Mwna] 12792) with the 1"21 "2 that if they will cross the 777 and fight with the other
o°vaw, then they will receive their inheritance in 777°7 72y, however if they do not cross the 777" and fight, they will
not receive their inheritance in 177°7 72v. It was a 9193 >Xin.

"% It was about which property they would inherit (it was not X110°XT *2°2).
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But even a Xn% % 19 is sufficient, for we (the 7"°2) testify that he did it only if

this stipulation will be met -
=993 NY NN D% 17°9NT D937 W ON

And there also are cases where even a 8Xn%> 93 is not required -
- YV MNNAY 1219 YV $nY) D¥INKY PO Y3 amanT *xonn s

For instance that case where one wrote over all his assets to strangers, and he

heard afterwards that he has a son, in which case the gift is voided -
- NDITVION NIN ANYY XY INWUNRY 109 95 aman 19

And similarly one who wrote over all his assets to his wife (ignoring his

children), he only made her an executor; the reason for these two rulings is -
- INYTA 9D TO9Y PIIN NNY 195

For we assume (in these two cases) that this was his intention -
$INIYT NYINY P05 NOYTIN NN )2t X7 2710 1IN 19 11999

And the same thing here if he would have made his intention known, the sale
would be void (even if there was no [7193] °Xin), for we are witnesses that he did
not sell all his assets, only with the intent to go to 'R, but not otherwise.

Summary
A 9195 °Rin is required when we are not certain what is the intention of the one

making the °Xin, if however he makes it clear what his intention is, we do not need
a 919> °X1n; in fact sometimes we do not even need a X1 M9 if we are certain of
his intentions.

Thinking it over
How do we explain all the cases in our n1°3wn, which were not stated as a 2193 >Xin

(like 77wy KA 21 IRW 1"V, etc.); why are they valid.*

16 xnm 9 (a revelation of the thing) means that we are made aware of the situation (in an informal manner).

7 When a person makes a deal (a sale) with a stipulation, it is possible that he wants the deal regardless (whether or
not the stipulation will be met), but he makes the stipulation hoping that it will be fulfilled (which will give him
additional gain), therefore unless he is very specific and states the negative (that if the stipulation is not met, the deal
is off), we assume that the >X1n is 502 and the deal is on. However there are certain situations where it is obvious that
he wants the deal only if the stipulation is met (like here if he would have made it clear that he is selling only
because he is travelling to *"X), in that case a 719 °Xin is not required. [In fact no °Xin is required, we only have to
know his intent, as can be seen from the examples M0 brings regarding 1°031 23 2M377 and INWKR? 1°031 2M571.]

18 X,2%P 2"2. The case there is where someone’s son traveled overseas and the father heard that he died so he wrote
over all his assets to another party.

199,899 2"

%0 See X"wann and mwn noMI.
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